M- “THFEHT #E

A={xly=1g(1-x)} B={yly=2"} AnB=( )

(0, + o) [-1,0) (0,1) (=oo,1)
> +-— > e +o _—
B 0.16
0. 14f---mmmmaee
(1+x + x2) (1 — x)1° x* () e
0.04f-=====-
— 135 — 117 0.0z
(el 4 6 81012 14 16
+ | 4 . + +‘ + AL F 551k IR (o)
£ N(1L2) PO<E<1)=026 f(x) = eX + & ()
0.24 0.26 0.74 0.76
x+y+2>0
x—y—2<0 z=2x—y )
y+m<0
-1
a>0 F(x0) = lg(ax® + 2x + 3) R gx) =x+= (1, + )
PAq ()
1 1 1
(= 0] (=] (03] (1]
+ - 2
= eR <| |<| |
- - <
— > — <
+ < + >




f(x) (-11)
gx) =f(x) —x
eDJ =
D, =" - > R
< = -
> - U 4w v e - <
x>2m?—-3 —-1<x<4
f) x( )
—%x+1,0<x$1,
f= 142 i1<x<30
5 20 ’ = '
@®
)9 40
(326 20
( )
_ [Inx|,x > 0 )
f(x)—{ 2 At 1y <0 f2(x) —bf(x) + c = 0(b,c €R)
b+c

f)=|lx—1]—-1] f(x) =m(meR) X1,X2,X3,X4
X1X2X3X4

x—y <0,

y_ 3 S 01



f(x) = 2a-4* — 2% —1

1) a=1 f(x) [—3,0]
(2) fx)=0
18 — 24 25 —-49 50 — 64
) 99%
2 n(ad—bc)?
" (a+b)(c+d)(a+c)(b+d)
P(K*
> k) 0.25(0.15|0.10 | 0.05 |0.025/0.010
ko [1.323(2.072|2.706|3.841(5.024|6.635
() 18 — 64
18 — 24
(=1~
()
e[ ] () ()
S ()= ()




1—13 —2018 )

= 1.04

T
L ]
]
L ]

4=
7 1.02
E -
W 1.00} -
& gogl -

L o906}

0.94

2 : | 4 5 & 7 8 9 10 11 12 13
Haem =
y=a+byx y=c+dnx

y = 0.9369 + 0.0285+/x ¥ = 0.9554 + 0.0306Inx

§ =0.9369 +0. 0285./x 5 =0.9554 +0. 0306 Inx
M#:ﬁrﬁl‘g{n -5 0. 000 591 0. 000 164
BREFHRE (7, -7)° 0.006 050
M
(2) m(70 < m < 160) (
) M
() ( = + 0.001 / )
) (
)
(
= )

[T7) itnnm *:ur#um#m #ﬂriﬁ’):& m. rtmmm*x#u:ﬂ 144

In2 ~ 0.69,In3 ~ 1.10,In7 ~ 2.83,In19 ~ 2.94,V2 ~ 1.41,/3 ~ 1.73/17 ~ 4.12,1/19 ~ 4.36

Yiey Oi=9)?

R?=1-
Z?:l (Yi_y)z



M- “THEHRG HE S
1 25
3 13
() a=1 f(x)=24—-2"—-1=2(2%2-2"-1
t=2" x€[-30] te[g1]
y=2t2—t—1=2(t—%)2—§
te[31] f() [—2,0]
) 20(29)2 -2—=1=0
2=m>0 2am* —m—-1=0 (0, + o)
g(m) =2am? —-m-1 g(m) (0, + o)
a=0 gm =—m-—1 m=—1<0
a<0 m= 41“ <0
gm) (0, + ) g(m) < g(0)=-1 gm) (0, + =)
a>0 m= 41“ >0
gm) (0,55 (oo + ) 9(3-) < g0 =—1
gm) =0 (0, + )
a>0
(0, + )
()
5 _100><(20><15—30><35)2~9091>6635
B 55 X 45 X 50 X 50 o '
99%
()
4
o 10 10
21 21 21










(D y = 0.9369 + 0.0285yx ¥ = 0.9554 + 0.0306/nx

2 2
R R
2 _ 4 _ 0000591 5 . 0000164 po 2
Ry = 0.00605 ~ 1 0.00605 Ry <R
y = 0.9554 + 0.03061nx
2 @ y = 0.9554 + 0.0306lnx

0.9554 + 0.0306(In2 + 2In3) =~ 1.044

(®
O 70<m<90 1%
h=mx 1.044 x (1% + 1) = 1.05444m
2 90<m< 144 1.5%
h=mx 1.044 x (1.5% + 1) = 1.05966m
(3 144<m <160 3%

h=m x 1.044 x (3% + 1) = 1.07532m

1.05444m,70 < m < 90
h =141.05966m,90 < m < 144
1.07532m,144 < m < 160

70<m<9 1.05444m
90 < m < 144 1.05966m
144 < m < 160 1.07532m

(i)

0) 70 <t <90 1.05444t
1.05444t < 1.05444 x 90 < 100
90 < t < 100 1.05966¢
1.05966¢ < 100 t<—20 10

~ 1.05966 1.05966

100
—— =944
1.05966

y = 0.9554 + 0.0306(n18 =



